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NES-1O2 : FACILITATING GROWTH AND
DEVELOPMENT

Time :3 hours Msximum'Weightage : 700%

Nofe : Answer all the three quesfions.

1. Answer the following question

1000 words :

about

Enlist the characteristics of a well integrated
personality. Discuss the role of a teacher in the

development of a well integrated personality of

children.

OR

Mrs. Varsha is worried about her three-year-old

daughter who does not play with her peer group.

Is Mrs. Varsha's anxiety justified ? Give reasons.

What is the importance of play for a child's

harmonious development ?
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2. Answer the following question in about
1000 words : SC

What are the characteristics of chitdren with special
abilities ? How will you promote giftedness and
creativity in children ? Discuss.

OR

What are the factors that influence the growth and
development of children ? Discuss the problems
associated with physical and emotional development
of children

3. Answer any four oI the following in about
250 words each : 4x70:40

affect a child's school performance ?

(ii) Discuss the problems of gifted children. How
will you resolve those problems ?

(iii) ' Discuss the role of a teacher in guiding parents
to cope with mentally retarded children.

(iv) Describe common problems associated with
the physical development of children.

(v) Illustrate with exampleb measures which a
teacher can adopt to improve communication
with children and their parents.

(vi) Discuss with suitable examples the influence of
mass media on children.
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(i) What is meant by deprivation ? How does it
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